
48001837
Checklist / Manual de Montagem - Pára-
choques Ranger T6 - Faróis de nevoeiro 
incluido

Checklist / Fitting Instructions - Front bull 
bar Ranger T6 - Fog lights included

Despiezas / Instrucciones de montaje -  

0 x 

x1

4800219

1 x1

4800219

2 x1

4800212

3 x1

4700163

4

x2

4700000

5 x1

4600459

6 x1

4600458

7 x1

4600456

8

x1

4600456

9 x1

4600456

10 x1

4600456

11 x1

4600456

12

x1

4600456

13 x1

4500046

14

Prf.Cab.Red.M6x20

x1

4500032

15

Prf. Cb. Sx. M14x120

x1

4500033

15

Fêmea Freiada M14

x1

4500007

16

Fêmea Freiada M6

x1

4500011

16

Prf. Cb. Con. M10x25

x1

4500006

17

Fêmea Freiada M12

x1

4500006

17

Prf. Cb. Sx. M12X35

x1

4500004

18

Anilha M12

x1

4500005

18

Anilha M6x15x1,6

x1

4500003

19

Anilha M10

x1

4500033

20

Anilha Aba Larga M14

x1

4500001

20

Fêmea Freiada M10

x1

4500001

21

Anilha Aba Larga M10

x1

4500000

21

Prf.Cb.Sx.M10x30x1,5

Ford Ranger T6 Cab. 
Dupla (2012- )

Ford Ranger T6 Cab. 
Dupla (2012- )

Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt1/6 08-10-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt2/6 08-10-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt3/6 08-10-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt4/6 08-10-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt5/6 08-10-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt6/6 08-10-2015


